Math 1020, Quiz #10, Fall 2013 Name K-g \r

Instructions: Show all work. Answers without work will not receive full credit. Give exact answers
unless specifically asked to round.

1. Find the slope of the line connecting the following pairs of points.
a. (~32),(35) m= S-2 P o o

3~ 6 &

" ke

b. (0,1),(0,4)

; J i /-
c. (i"g)'(‘i'ﬁ) m= )

S
3 L 3 - .S..i - __a'g.g
-5 L1 -6 B -6 18
K 4 K1
b @=0.(1-6) m= Te=C6) . o _

-1 =y -5

2. Find the equation of the line with a slope of m = g, and a y-intercept of (0,2). Then put the
equation in standard form.
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3. Find the equation of the line with a slope of m = 3/4, and passes through the point (2,-3).
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4. On the back of the page, sketch a picture of a line graph with a negative slope, and another with
an undefined slope. (You should have two different graphs.)



